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AEHFR2A 826,483 1,082,482 A 255,999
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C2NSE TAMKRE 6,233 5,984 249
101 @1 24H| 5,233 4,984 249
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201 YBr2 | 1,000 1,000 0
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tZ2e 3 ZH| 810,250 1,065,128 A254,878
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ON2S FHXCI| WM  8,000& * 500S 4,000
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03 A& 20| 1,800 1,202 598
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401 A& HIZ 2 CHHI 22,000 314,498 N292,498
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OE2FHI AHHII, =D, 243U
1,700€4 * 2,000 4 3,400
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180,000 * 12€ 2,160
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OEZ2EAIX} LHEHEHHNE FAZHRY
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35,0003 * 9QHA + 128 3,780
OUSAE XYE=Z =8I MIILS
200,000& = 122 2,400
206 M= 4l 30,300 11,925 18,375
01 =4l 30,300 11,925 18,375
ONEXIE SatzZs & 350,000& * 58& 20,300
OH&EE 2d 72¢ 12,500& = 80om’ 10,000
T2 EH| 880,950 974,828 N93,878
206 M =4l 27,450 5,490 21,960
01 =4 27,450 5,490 21,960
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12,0002 * 500X CH 6,000
Oz AIE+E 0tAZ2 2
71,0008 » 281.68& 20,000
Oz AIES+E OtAZE 2¢
130,000& * 5EH 650
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80,000& = 108 800
401 Al EHIZ 2O Y| 853,500 969, 338 A 115,838
01 A& HI 853,500 965,500 A 112,000
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OE2% =7XHl 9,000,008 » 1188 99,000
02T XM A 2,500,0002 * 18kn 45,000
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02% 2 S0ET2 A2
895,520  335kn 300,000
OM&TY 2 JIXH 22AED &
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=l 1,279,000
2 1,279,000
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=l 829,000
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401 AL 2T 1,658,000 400,000 1,258,000
=l 829,000
2 829,000
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OlA&H] 1,652,031
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01 Al &t 596,220 557,000 39,220
CINEEET 596,220
OOIRI0l B3 7% A A
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300,000,0002 * 0.72% 2,160
= 1,080
T 1,080
25 C2RY =5 682,700 1,001,595 ~318,895
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01 Al & H| 600,000 657,000 A57,000
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At EXI0H I 100,000,0008 * 14! 100,000
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401 Al HIL 2T 100,000 1,451,440 A1,351,440
01 Al &bl 100,000 1,450,000 ~1,350,000
OlA &Y 100,000
001 HE-ZS SHEZE HEFTA
00,000,008 * 14! 100,000
ST-ZYY DAIT VAT WEBA 703,600 300,000 403,600
401 Al EHIL 2 TH b 703,600 300,000 403,600
01 Al &bl 700,000 300,000 400,000
OlEX Y] 200,000
OST-BY DE2T HATR HEBA
SSETE 200,000,008 * 14! 200,000
OlAI&HI] 500,000
OST-ZY DE2T HYTR HEBA
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03 Al& 2 THbl 3,600 0 3,600
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ST AF-BUL SHECE SEIFIA 500,000 0 500,000
401 Al EHIL 2 TH b 500,000 0 500,000
01 Al &bl 500,000 0 500,000
OlEX Y] 500,000
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2N N-A0H2 SHEE2 HTYTA 150,000 0 150,000
401 Al HIL 2 TH b 150,000 0 150,000
01 Al &bl 150,000 0 150,000
Ol A&l 150,000
OZA XIL-ADHIZ SHESZ SHTHBA
AAE bl 150,000,00021 * 14} 150,000
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2t01 ZAEHelAr 181,296 90,810 90,486
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01 Al& 8] 80,000 90,000 90,000
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180,000,000& * 0.72% 1,296
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